

1

Republic of the Philippines CITY GOVERNMENT OF MUNTINLUPA Bids and Awards Committee

NOTICE TO PROCEED

BIG CRATE ENTERPRISE INC.

Quezon City

Dear Sir / Madame:

The attached Contract Agreement having been approved, notice is hereby given **BIG CRATE ENTERPRISE INC.** that the CONTRACT of the City Government of Muntinlupa for the "**Supply & Delivery of Janitorial & Other Supplies for use of Various Offices**", shall commence effective FIVE (5) DAYS after acknowledging receipt hereof.

Upon receipt of this notice, you are responsible for performing the services under the terms and conditions of the Agreement and Schedule of Delivery.

Please acknowledge receipt and acceptance of this notice by signing both copies on the space provided below. Kindly keep one (1) copy and return the other copy to the Bids and Awards Committee Secretariat.

Very truly yours,

Hon. ROZZANO RUFINO B. BIAZON
City Mayor

City Government of Muntinlupa, 2nd Floor, Main Building, National Road, Barangay Putatan, Muntinlupa City

Muntiniupa
Nakakaprend

Contract Agreement

THIS AGREEMENT made the May 3 1 2023 20 between CITY GOVERNMENT OF MUNTINLUPA of the Philippines (hereinafter called "the Entity") of the one part and BIG CRATE ENTERPRISE INC. with address at Quezon City (hereinafter called "the Supplier") of the other part;

WHEREAS, the Entity invited Bids for certain goods and ancillary services, particularly for the **Supply & Delivery of Janitorial & Other Supplies for use of Various Offices** and has accepted a Bid by the Supplier for the supply of those goods and services in the sum of **Thirteen Million Seven Hundred Ninety Seven Thousand Fifty Pesos (P13,797,050.00)** (hereinafter called "the Contract Price").

NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- 1. In this Agreement words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract referred to.
- 2. The following documents as required by the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184 shall be deemed to form and be read and construed as integral part of this Agreement, *viz.*:
 - i. Philippine Bidding Documents (PBDs);
 - i. Schedule of Requirements;
 - ii. Technical Specifications;
 - iii. General and Special Conditions of Contract; and
 - iv. Supplemental or Bid Bulletins, if any
 - ii. Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents or statements submitted;

Bid form, including all the documents/statements contained in the Bidder's bidding envelopes, as annexes, and all other documents submitted (*e.g.*, Bidder's response to request for clarifications on the bid), including corrections to the bid, if any, resulting from the Procuring Entity's bid evaluation;

- iii. Performance Security;
- iv. Notice of Award of Contract; and the Bidder's conforme thereto; and
- v. Other contract documents that may be required by existing laws and/or the Procuring Entity concerned in the PBDs. Winning bidder agrees that additional contract documents or information prescribed by the GPPB that are subsequently required for submission after the contract execution, such as the Notice to Proceed, Variation Orders, and Warranty Security, shall likewise form part of the Contract.

- 3. In consideration for the sum of Thirteen Million Seven Hundred Ninety Seven Thousand Fifty Pesos (P13,797,050.00) or such other sums as may be ascertained, BIG CRATE ENTERPRISE INC. agrees to the Supply & Delivery of Janitorial & Other Supplies for use of Various Offices in accordance with his/her/its Bid.
- 4. The City Government of Muntinlupa agrees to pay the above-mentioned sum in accordance with the terms of the Bidding.

IN WITNESS whereof the parties hereto have caused this Agreement to be executed in accordance with the laws of the Republic of the Philippines on the day and year first above written.

Hon. ROZZANO City Mayor	RUFINO B	. BIAZON
City Mayor	! i	

<u>100 wa Mighadlus 1. Madaji</u> Supplier

for:
CITY GOVERNMENT OF MUNTINLUPA

BIG CRATE ENTERPRISE INC.

c	gh
irtur "	MAGRINDA

Signed in the presence of:

Belinda Blessic Macagga

ACKNOWLEDGEMENT

REPUBLIC OF THE PHILIPPINES)
CITY OF MUNTINLUPA)

BEFORE ME, a Notary Public for and in Muntinlupa City, this ____ MAK of 1 2023 personally appeared:

NAME

GOVERNMENT ISSUED ID NO.

Hon. ROZZANO RUFINO B. BIAZON Joshur Raphaellus J. Manlagia

Driver's License N03-86-030998 <u>C08 - 20-- M0.56-</u>

Known to me and to me known to be the same persons who executed the foregoing instrument and acknowledged to me that the same is their own voluntary act and deed.

WITNESS MY HAND SEAL.

Doc. No. 16; Page No. 17; Book No. (CCA) Series of 2023. ATTY. RAUL R. JORRO
NOTARY PUBLIC
NOTARA COMMISSION NO NC-22-047
UNTIL DECEMBER 31, 2023
PTR NO MCF 4377013/MUNTINLUPA/JAN 5, 2024
IBP # 04108/PPLM CHAPTER
ROLL NO 36515
2ND FLR. PEOPLE'S CENTER BUILDING MUNTINLUPA CITY HALL
CITY GOVERNMENT OF MUNTIF LUPA

REPUBLIC OF THE PHILIPPINES
DEPARTMENT OF TRANSPORTATION
LAND TRANSPORTATION OFFICE
DRIVER'S LICENSE



QUEZON CITY
License No.
CO8-20-000565 2024/10/01 N42

CO8-20-000565 2024/10/01 N42

Expiration Date
NA2

Record Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Record
Re

Last Name, First Name, Middle Name
MANLAPIG, JOSHUA RAPHAELLUS, JALIPA
Nationality, Sex Date of Birth Weight (kg), Height(m)
PHIL M 1994/10/01 84 1.73

Address
BLDG-G U245 SMILE CITIHOMES KALIGAYAHAN
OUEZON CITY
Locase No. Expiration Date

did.

REPUBLIC OF THE PHILIPPHIES DEPARTMENT OF TRANSPORTATION LAND TRANSPORTATION OFFICE

nompressional driver's License





BIAZON, ROZZANO RUFINO DUNOAN

tieff if 1842-03/50 ftd fill

A TO TAKE ST AVALO ALABANG VILLAGE.
THE STEE STEE COTY
THE STEE STEE COTY
THE STEE STEE COTY
THE STEE STEE STEE STEEL ST

ያትርብብ የተማርሰራ

Kernishres 3

Engra Colaviante Jeridan Sacretary

967291294

H CASE OF BRACHOLD (SHIM)
1/21 LOSE OF BRENGERDY ROLFF
MARCHASTARE WAT I "AFRE ACTOR TO THE TRACKER AND THE WATER AND THE WATER

And hat he had a second of the house of the

City Government of Muntinlupa

SupplierBIGCRATE ENTERPRISES, INC.					P.O. No. :	0296	59		
Supplier DIOCKATE LIVE ENTRIGES, 1140.						Date: April 13, 2023			
Address:	Quezon C	ity					Mode of Procurement : Public Bidding		
		<u> </u>			•	Mode of Proc	rement:		
Gentleme	n: Please furr	nish and/or	deliver to this office th	e following articles su	bject t	to the terms and	conditions conta	ained herein:	
Place	of delivery	•				Delivery Term	• • • • • • • • • • • • • • • • • • • •		
	•					Payment Term			
Item No.	-	Unit	1	Description		`	Unit Cost	Amount	
nem No.	Quantity	Unit							
1	1365	can/btl	AIR FRESHENER, AEROS	SOL SPRAY, 320 ML	Glad		272.00 235.00	371,280.00 - 24,440.00 -	
2	104	btl	AIR FRESHENER, AUTON AIR FRESHENER, GEL		Glad		210.00	123,480.00	
3	588	can	ALCOHOL, 70% ETHYL	POTTIE FOOM		rade/Supreme	133.00	182,210.00	
4	1370	btl	ALCOHOL, 70% ETHYL	DOTTLE, JOHNE	-	rade/Supreme	589.50	106,699.50	
5	181	btl	ALCOHOL, 70% ETHYL	POTTLE, TOALLON		rade/Supreme	113.00	233,232.00	
6	2064	btl	ALCOHOL, 70% ISOPROI			rade/Supreme	122.00	511,668.00	
7	4194	bti	ALCOHOL, 70% ISOPROI	ODVI DOTTLE 1		rade/Supreme	590.00	121,540.00-	
8	206	btl	ALCOHOL, 70% ISOPR BLEACH, BOTTLE, 1 G	ALLON ODIGINAL	Zonr		184.00	157,320.00-	
9	855	btl			Zoni		53.00	8,745.00-	
10	165	btl	BLEACH, BOTTLE, 1L,	UNIONAL	Zonr	1	92.00	83,352.00-	
11	906	btl	BLEACH, BOTTLE, 900	INIL, COLOR-SAFE	2,011	υ λ	50.00	10,000.00_	
12	200	box	BOX, USED, FOR RESOL	JRUE RECOVERT BOX				11,814.00	
13	66	pc	BROOM, CEILING				179.00	,	
14	528	рс	BROOM, SOFT				236.00	124,608.00 -	
15	55526	рс	BROOM, STICK				50.00	2,776,300.00 ~	
16	132	pc	BRUSH, FOR FLOOR, WITH HAI	VDLE (PUSH BRUSH)			288.00	38,016.00 ~	
17	40	btl	CHLORINE, GALLON,				1,080.00	43,200.00 -	
18	36	canister	CLEANSER POWDER,		Zim		59.00	2,124.00 _	
19	32	pack	COTTON SMALL, 100				91.00	2,912.00 _	
20	20	pack	COTTON, BALLS, 150				66.00	1,320.00 ~	
20	803	pc	DEODORIZER CAKE,		Alba	atros	73.00	58,619.00 -	
	749		DEODORIZER CAKE,			atros	43.00	32,207.00 -	
22		рс	· ·			mpion/Pride/Surf	29.00	14,529.00 _	
23	501	bar	DETERGENT BAR, ORIGIN			,		217,000.00	
24	1750	pouch	DETERGENT POWDER,			mpion/Pride/Surf	124.00		
25	557	pouch		ALL PURPOSE, 2 KILOS		mpion/Pride/Surf	244.00	135,908.00	
26	474	[btl	DISH WASHING LIQUID		Joy		93.00	44,082.00	
27	1407	btl	DISHWASHING LIQUID		_		150.00	211,050.00	
28	282	can	DISHWASHING PAST	E, 400G	Sma		59.00	16,638.00	
29	661	рс	DISHWASHING SPON	IGE, WITH FOAM, BIG	Zim		31.00	20,491.00-	
30	618	рс	DISHWASHING SPONG		Zim		22.00	13,596.00~	
31	16	btl	DISINFECTANT LIQUI		٠.		1800.00	28,800.00	
32	372 ·	btl	DISINFECTANT LIQU	ID, 900ML	Zim	1	275.00	102,300.00 -	
				page 1 of 5					
Total An	nounts in Wo	ords:	. 1		· · · ·				
	In case of f	ailure to mo	ake the full delivery wi	thin the time specified	ahow	a nanalty of a	ne_tenth (1/10) -	f one nercent	
for aver	il 10 Jean ii. Mah an ugh v	anus to tili av shall ka	managed -	arm are mue sheemen	auuvt	o, a penaity of 0.	(1/10) (n one percent	
101 CVCI	y day of dela	iy silali be	imposto Hadana		,	Very Truly yours	1 14. 1		
		- Johnson	Marianz			Name of States		O D DIAZON	
Conform	ne: BIGCR	ATE ENT	ERPRISES, INC.			Wayorkoz	ZANO RUFIN	O B. BIAZON	
		Signature o	ver printed name				Authorized Offic	ial	
		5-7	,- 23 .					;	
			Date						
(In case of Negotiated Purchase pursuant to				Requesting Office/De	ant.	Funde Avail	able:		
			pursuant to portion must	veduesting Office/De	ъμ.	A	aunt:		
		ry too mis	portion must		•	Am Am	ount :		
be accomplished.)						27			
	ed to be pure					R.O.	No.:		
Purchas	e per Sanggu	ıniang Res.	No.:						
Certifie	d Correct:					1			
			f the Sanggunian	Authorized Offic	ial		Chief Account	·	
				11441011204 01110					

· 41863

City Government of Muntinlupa

Supplier: BIGCRATE ENTERPRISES, INC.					P.O. No. :	0296	59	
Address : Quezon City						Date:	April-12	2 2022
1144,000	•						urement:	-
	•						dreitent.	rapiic olduliig
Gentleme	en:							
	Please fur	nish and/or	deliver to this office	the following articles so	ubject	to the terms and	conditions cont	ained herein:
Plac	e of delivery	•				Delivery Term	•	
					 -		:	
	7	r					• ————	
Item No.	Quantity	Unit		Description			Unit Cost	Amount
33	595	btl	DISINFECTANT LIQUID	, AEROSOL SPRAY, 340G	Lyso		560.00	333,200.00
34 35	275	btl	DISINFECTANT LIQUID	, AEROSOL SPRAY, 510G	Lyso		710.00	195,250.00
36	1176	pc	DOOR MAT, BIG, CLOT	H (RAG)			49.00	57,624.00
36 37	138 11	pc	DOOR MAT, BIG, RUBB	ER			279.00	38,502.00
38	6000	pc	DRUM, PLASTIC, 55-GA	LLON CAPACITY, BLUE			1,650.00	18,150.00
39	186	bc bc	OUST PAN, LATA, HEAVY	DUTY, WOODEN HANDLE			183.00	1,098,000.00
40	55	pc pc	PUST PAN, STAINLESS				186.00	34,596.00
41	305	btl	FABRIC CONDITIONER	POTTIE 10ALLON			685.00	37,675.00
42	105	pc	FEATHER DUSTER	, BOTTLE, IGALLON	Dow	ηy į	907.00	276,635.00
43	295	can	FURNITURE CLEANER, A	EROSOL SPRAY 330MI	Pled		93.00	9,765.00
44	516	btl	GLASS CLEANER, BOT	TLE SPRAY, 500MI		luscle/Domex	407.00	120,065.00
45	64	set	GLASS SPONGE & SQU	EEGFF	1411.14	idacie/Dolliex	190.00	98,040.00
46	100	pair	GLOVES, COTTON, KNI				211.00	13,504.00-
47	183	pair	GLOVES, COTTON, PAIL	R		l	42.00	4,200.00
48	53	pair	GLOVES, LEATHER, 1 P			1	42.00	7,686.00
49	216	pair	GLOVES, RUBBER (THI	NC CLOVES/ DAID			271.00	14,363.00
50	166	btl	HAND SANITIZER, 100M	in Glovesj, pair	Ataan	-4-10	128.00	27,648.00
51	675	btl	HAND SANITIZER, 500M	I	Alcor	ade/Supreme ade/Supreme	69.00	11,454.00
52	103	can	NSECT SPRAY, AEROS	OL-TYPE 300MI	Baygo		215.00	145,125.00
53	671	can	NSECT SPRAY, AEROS	OL-TYPE 500MI	Baygo		273.00	28,119.00
54	478	рс	MOP HEAD, FOR FLOOP	R. 100% RAYON 400G	Dayy)ı.	399.00	267,729.00
55	49	set	MOP SQUEEZER, WI RIN	NGER			195.00	93,210.00
56	54	рс	MOP, FOR FLOOR, IMOR				4,645.00	227,605.00.
57	147	pc	MOP, FOR FLOOR, IMOR	PITYPE PERIL DAGO			857.00	46,278.00~
58	35	рс	NOP, FOR FLOOR, RECTANGU	LAR W/ HANDLE, 60MM			141.50	20,800.50 -
59	230	pc	MOP, FOR FLOOR, TRAI	DITIONAL, W/ HANDI F			1715.00	60,025.00 -
60	243	bti	MULTI-PURPOSE CLEAN	JER. 1L	Mr Mi	uscle/Domex	384.00	88,320.00 -
61	74	btī	MULTI-PURPOSE CLEAN	IER, 500ML		uscle/Domex	246.00	59,778.00
62	240	btl	NURIATIC ACID, 1 GALL	ON	*****	acolot Dolltex	131.00 471.00	9,694.00
63 64	63	bll	MURIATIC ACID, BOTTLE	E, 500ML ·			90.00	113,040.00
64	597	pack	PAPER KITCHEN TOWEL	., 2S/PACK, 75 PULLS	Femm	e	83.00	5,670.00
			ŀ	page 2 of 5			85.00	49,551.00
Total Am	ounts in Wo	rds:						
	In case of fai	lure to mal	of the full delivers	ithin the time	_1.			
for every	day of delay	v shalkhe in	nosed	ithin the time specified	above,	a penalty of one	e-tenth (1/10) of	fone percent
•					3.7	om. Toule.		
Conform	eDICCD AT	10099a Ma	21/9/19		ν	ery iruiy yours,	A.A.A.A	ľ
Comon			RISES, INC.		7	ery Truly yours, Mayor ROZZA	NO RLIEINO F	RIAZON
	S		er printed name			A	uthorized Officia	1
	_	2-2-3	<u>u</u>					1
			Pate					
(In case o	f Negotiated	Purchase	urcuant to	Daniel Com		T		
Section 3	69 (a) of RA	7160 thie s	ruiouani (V Ortion must	Requesting Office/Dep	pt.	Funds Available :		
be accom	plished.)	, лоо ина р	orgon must			Amount:		
	•						····	
Approved	d to be purch:	ased thru N	egotiated			R.O. N	lo. :	
Purchase	per Sanggun	iang Res. N	lo.:]		
Certifical	Correct:					1		1
Centilled		anala C	1 0 1					-
	56	cretary of t	he Sanggunian	Authorized Officia	al		Chief Account	
" · · · · · · · · · · · · · · · · · · ·		 	**************************************	<u> </u>		<u></u>		

City Government of Muntinlupa

Supplier :BIGCRATE ENTERPRISES, INC.						P.O. No. :	0296	59
	Quezon C	···				Date:	April 13	. 2023
			- · · · · · · · · · · · · · · · · · · ·				•	Public Bidding
						· · · · · · · · · · · · · · · · · · ·		
Gentleme	en: Please fur	nish and/or	deliver to this office	the following articles su	ubject	to the terms and	conditions cont	ained herein:
Plac	e of delivery	·			,	Delivery Term	:	
Date	of delivery						:	
Item No.	Quantity	Unit		Description			Unit Cost	Amount
65	35		DOLIGINO DAD 401 D	IAMETER OFFICE				
66	1298	pc bundle	POLISHING PAD, 16" DI RAG, COTTON, ROUNE	IAMETER, GREEN). PER KILO			1,322.00 99.00	46,270.00
67	641	рс	SOAP, FOR BATH, 1300		Rind	erm/Safegurad	58.00	128,502.00 37,178.00
68	1765	рс	SOAP, FOR BATH, 85G			erm/Safegurad	48.00	
69	247	btl	SOAP, FOR HAND, LIQUID			guard	128,00	84,720.00 31,616.00
70	956	btl	SOAP, FOR HAND, LIQUID			guard	241.00	230,396.00
71	51	pc	STEEL BRUSH			3	79.00	4,029.00
72	134	roll	STRAW ROPE, ROLL, 1	KILOGRAM			128.00	17,152.00
73	100	roll	TISSUE PAPER 250 METERS :	PLY (BONITA - BIG ROLL)	Boni	ta I	363.00	36,300.00-
74	2612	roll	TISSUE PAPER, 2-PLY,	12 ROLLS/PACK	Fem		134.00	350,008.00-
75	956	roli	TISSUE PAPER, 3-PLY,	12 ROLLS/PACK	Fem		199.00	190,244.00~
76	454	box	TISSUE PAPER, BOXE		Fem		55.00	24,970.00-
77	1244	pack	TISSUE PAPER, INTERFO	=	Fem		90.00	111,960.00-
78	1137	btl	TOILET BOWL & URINA			Muscle/Domex	226.00	
79	317	pc	TOILET BOWL BRUSH,	•	1411. 1	MITOCIENDOLLIEX		256,962.00
80	914	pack	TOILET DEODORIZER		14 1		70.00	22,190.00
81	53	pc pack	FOILET RUBBER PUMP		IVIT. P	viuscie	90.00	82,260.00—
82	228	pc	FOWEL, CHAMOISE, AL				83.00	4,399.00
83	2419	pack	FRASH BAG, LARGE (13X				329.00	75,012.00~
84	6	pack		13X32), 10S/PACK BLACK 13X32), 10S/PACK, GREEN			75.00	181,425.00
85	291	pack	FRASH BAG, LARGE (13X13X3				75.00	450.00.
86	2587	pack	TRASH BAG, MEDIUM,				75.00	21,825.00/
		•					51.00	131,937.00
87	255	pack	TRASH BAG, MEDIUM, 108				57.00	14,535.00
88	774	pack	TRASH BAG, SMALL, 10				29.00	22,446.00_
89	655	pack	TRASH BAG, XL, 10S/PA				115.00	75,325.00
90	290	pack	TRASH BAG, XL, 10S/PA				156.00	45,240.00
91	160	pack	TRASH BAG, XL, 10S/PA	ACK, TRANSPARENT			151.00	24,160.00
92	1800	pack	[RASH BAG, XL, CROS	STIE, 10S/PACK, BLACK		1	165.00	297,000.00
	10257	pack	TRASH BAG, XXL, 10S/F	PACK BLACK			150.00	1,538,550.00
94	20	рс	TRASH CAN, METAL CA	NISTER, 20 LITERS			2832.00	56,640.00
95	135	pc	TRASH CAN, PLASTIC,			Ì	315.00	42,525.00
96	92	р¢	WATER DIPPER, PLAST				60.00	5,520.00
			<u> </u>	page 3 of 5				
Total Am	ounts in Wo	rds:						
	In case of fa	ilure to ma	ke the full delivery w	ithin the time specified	above	a penalty of on	e-tenth (1/10) o	f one percent
tor every	day of dela	y shall be i	nobsed /	•		1.		- one percent
		Joshua 7			V	ery Truly/yours,	. 1 1	
Conform	e:RIGCRAT	E EZITEDI	PRISES, INC.			7175 717	\ <i>A III a . I</i>	,
	AIOCIA	ionoture ou	NISEN, IIVC.	_		Mayor/ROZZ	<u> ANO RUFINO</u>	B. BIAZON
	. 3		er printed name			' A	uthorized Offici	al
	-	<u> 2- J-</u>						
			Date					
(In case o	f Negotiated	Purchase p	oursuant to	Requesting Office/De	pt.	Funds Availa	ble :	
Section 3	69 (a) of RA	.7160 this p	ortion must			Amo	unt:	
be accom	plished.)	•		1		1		[
A narau-	1 to be1	و الداموم				1-20	·	
- Հրիւորո- Մուսիոս-	i to be purch	ased thru N	egotiated			K.O. I	Vo.:	
i urchase	het sauggur	nang Kes. I	Vo.:					
Certified	Correct:							
		cretary of	the Sanggunian	Authorized Offici	al		Chief Account	 i
-		<u>-</u>		A AMILOTIZED OTICI	uı	1	Cilici Account	1
		· · · · · · · · · · · · · · · · · · ·						

City Government of Muntinlupa

Supplier :BIGCRATE ENTERPRISES, INC.						P.O. No. :	0296	59
Address: Quezon City							April 13,	
Address : \	Quezon C	Ly				Mode of Proce	_	ublic Bidding
						Mode of Ploci	mement:	
Gentleme	n:							
		ish and/or	deliver to this office t	he following articles sub	ject to	the terms and	conditions conta	ined herein:
Place	of delivery	; <u> </u>	<u> </u>		_	Delivery Term	:	
Date	of delivery	: ——			1	Payment Term	•	· · · · · · · · · · · · · · · · · · ·
Item No.	Quantity	Unit		Description	i		Unit Cost	Amount
97	2	pc	WATER HOSE, 2 INCH, 20 MET	ERS FOR WATER TANKER	•		3,998.50	7,997.00
98	54	btl		-TYPE, BOTTLE, COLORLESS,	Zim/Pi	edge	591.00	31,914.00 -
99	37	btl	WAX, FOR FLOOR, LIQU	JID-TYPE, BOTTLE,	Zim/P	ledge	268.00	9,916.00
			COLORLESS, 500ML WINDOW CLEANER, 2 II	N 1 (HIGH QUALITY		Ĭ		,
100	12	set	•	RIP), LONG HANDLE, FOR			999.00	11,988.00_
101	29	can/btl	AIR FRESHENER, AERO	•	Glade		272,00	7,888.00
102 103	7	can btl	AIR FRESHENER, GEL- ALCOHOL, 70% ETHYL,		Glade	ide/Supreme	210.00 589.50	~ 210.00 ~ 4,126.50
104	43	btl	ALCOHOL, 70% ETHYL,			ide/Supreme	113.00	4,126.50 -
105	10	bti	ALCOHOL, 70% ETHYL,			ide/Supreme	133.00	1,330.00
106	17	bti		PYL, BOTTLE, 1 GALLON		ide/Supreme	590.00	10,030.00~
107	35	btl	ALCOHOL, 70% ISOPRO		Alcora	ide/Supreme	122.00	4,270.00-
108	3	btl	BLEACH, BOTTLE, 1 GA	LLON, ORIGINAL	Zonro	x	184.00	552.00~
109	20	btl	BLEACH, BOTTLE, 1L, C	DRIGINAL	Zonro	x	53.00	1,060.00,
110	1	рс	BROOM, SOFT			}	236.00	236.00~
111	2	рс	DEODORIZER CAKE, 10		Albatr	os	73.00	146.00_
112	15	pouch	DETERGENT POWDER,	·	Champ	oion/Pride/Surf	124.00	1,860.00~
113	1	pouch	DETERGENT PWDER, A		Champ	oion/Pride/Surf	244.00	244.00 ~
114	1	btl	DISHWASHING LIQUID		Joy	ľ	93.00	93.00~
115	52	bti	DISHWASHING LIQUID				150.00	7,800.00
116	22	pc	DISHWASHING SPONG		Zim		31.00	682.00 -
117	2	btl	DISINFECTANT LIQUID		Zim	1	275.00	550.00-
118	20	bti	1	AEROSOL SPRAY, 340G	Lysol		560.00	11,200.00~
119	15	btl		AEROSOL SPRAY, 510G	Lysol	ĺ	710.00	10,650.00,
120	2	pc	DOOR MAT, BIG, CLOTI FEATHER DUSTER	T (KAG)			49.00	98.00~
121 122	3 3	bc bc		AEROSOL SPRAY, 330ML	Pleda	_	93.00	279.00~
123	4	can btl	GLASS CLEANER, BOT			e uscle/Domex	407.00 190.00	1,221.00 760.00
124	5	btl	HAND SANITIZER, 500 I	•		ade/Supreme	215.00	1,075.00 /
				page 4 of 5	1 110010	add/Capromo	2.23.00	1,075.00
Total Am	ounts in Wo	rds:						· · · · · · · · · · · · · · · · · · ·
for every	In case of fa	ilure to ma	ke the full delivery wi	thin the time specified a	bove,	a penalty of on	e-tenth (1/10) of	one percent
J	• 	1./	Markay		Ve	ry Truly yours,		
Conform	e:		11 alogy			/1/1		
	¨ BIGCRA S	i E Livi ek ignature ov	PRISES, INC.		_	Wayor ROZ	ANO RUEINO uthorized Officia	B. BIAZON
	Ü	5-2-	-			. A	amonzed Winch	31
	-		Date					
,	<u></u>					<u> </u>		
(In case o	f Negotiated	Purchase p	oursuant to	Requesting Office/Dep	t.	Funds Availa	ble :	
Section 369 (a) of RA7160 this portion must			•	Amount:				
be accomplished.)								
Approved Purchase	i to be purch per Sanggur	ased thru N niang Res. 1	legotiated			R.O. 1	No.:	
Certified	Corrects							
Connica		ecretary of	the Sanggunian	Authorized Officia	ıl		Chief Account	``
						l		

ø

City Government of Muntinlupa

Supplier : BIGCRA	TE ENTERPI	RISES, INC.		P.O. No. :	<u>0296</u>	<u>59</u>
Address : Quezon City				· 	April 13,	2023
Address .				Mode of Proc	eurement : Pu	ıblic Bidding
Gentlemen: Please fur	nish and/or deli	ver to this office	the following articles su	bject to the terms and	conditions conta	ained herein:
Place of delivery	· •			Delivery Term	:	
•					:	
Item No. Quantity	Unit		Description		Unit Cost	Amount
125	pc MOP pc MOP pc MOP btl MUL' pack PAPI kg RAG pc SOA btl SOA roll TSS roll TSS box TSS box TSS btl TOIL pack TRAS	TI-PURPOSE CLEAN TI-PURPOSE CLEAN TREATH TOWE TOWN TOWN TOWN TOWN TOWN TOWN TOWN TOWN	% RAYON, 400G DITIONAL, WITH HANDLE NER, 1L EL, 2S/PACK, 75 PULLS , PER KILO G ID, BOTTLE PUMP 225ML JID, BOTTLE PUMP, 450ML 12 ROLLS/PACK 12 ROLLS/PACK 12 ROLLS/PACK 14 ROLLS/PACK 15 FOLDED 1 PLY 175 PULLS 15 CLEANER, 1L 16 X13X32), 10S/PACK BLACK 16 S/PACK, BLACK 16 KLACK 16 KLACK 17 RANSPARENT			4,788.00 390.00 768.00 246.00 498.00 1,287.00 1,74.00 1,152.00 1,687.00 5,628.00 9,950.00 1,210.00 1,080.00 226.00 150.00 115.00 115.00 1,566.50
Total Amounts in Wo	ords:					
Conforme:BIGCRA	systall beliance Signature over p S-2-23 Date d Purchase purs	SES, INC.	within the time specified Requesting Office/De	Very Truly yours		B. BIAZON al
Section 369 (a) of RA be accomplished.) Approved to be pure Purchase per Sanggu	hasad thmi Nacc	tintod		Ame	No.:	
Certified Correct:	Secretary of the	Sanggunian	Authorized Offici		Chief Account	